
1

23Pcs8x25mm Dowel (Wood)

No. SHAPE DESCRIPTION

Qty.

Hardware List

M3.5x16mm Screw

14PcsM4x45mm Screw

 6PcsSticker

 4Pcs5/8 Nail With Pin

3SetsDrawer Slide (350mm)

15MM

Myfix Minifix

14Sets

A

B

C

D

H

I

K

Flat Shaped - Left

"L" Shaped - Left

Flat Shaped - Right

"L" Shaped - Right

 3Pcs

F

 6Pcs

G

E

18PcsM3.5x12mm Screw

Model : PH 7610

Handle OS128

M4x28mm Screw

18Pcs

No. Descriptions
Qty.

Part List

1

3

2

4

5

Side Left Panel 730x400x15 1PC

Side Right Panel 1PC

Top Panel 1200x550x15

Back Panel 1070x400x15

Center Panel 399x365x15

Rail Panel Right 355x70x15

730x400x15

3PCSDrawer Front 360x128x15

Drawer Side Left 350x90x15

10

11

Drawer Side Right 350x90x15

Drawer Back 298x90x15

Drawer Bottom 307x347x2.5

7

6

8

9

1PC

1PC

1PC

1PC

3PCS

3PCS

3PCS

3PCS

12Pcs6x25mm Dowel (Wood)

J

Assembly Instruction



2

Part List

Assembly Instruction

1

2

3

4

5

6

7

8

9

10

11

7

8

9

10

11

7

8

9

10

11



Assembly Instruction

Step 2

3

Step 3

23Pcs
A 8x25mm Dowel (Wood)

18Pcs

F

 3Pcs

J

 3Pcs

J Drawer Slide 350mm - L

Drawer Slide 350mm- R

M3.5x12mm Screw

Step 1

1

2

5

4

6

A

10

2

5

F

J

F

J

Left

Right

F

J

F

J

10

10

12Pcs
B 6x25mm Dowel Wood

8

9

B

8

9

8

9



Assembly Instruction

4

Step 5Step 4

Step 6 Step 7

14Pcs
C

Myfix

3

7

7

7

C

 2Pcs

E M4x45mm Screw

4

5

E

  1Pc

E M4x45mm Screw

E

K

  1Pc

K Sticker

5

4

6

 3Pcs

E M4x45mm Screw

 3Pcs

K Sticker

4

5

2

6

E

K



Assembly Instruction

5

Step 9Step 8

Step 10

 4Pcs

5/8 Nail With PinJ

 2Pcs

E M4x45mm Screw

 2Pcs

K Sticker

2

6

5

4

1

E

K

1

4

5
2

6

J

C

1

4

5
2

3

 8Pcs
C

Minifix



Assembly Instruction

6

Step 11 Step 12

Step 13 Step 14

 6Pcs

E M4x45mm Screw

 6Pcs
C

Minifix

H

G

 3Pcs
G

Handle OS128

 6Pcs
H

M4x28mm Screw

E

E

C

C

7

7

7

11

11

11

11

10

10

10

10

108

8

8

8

8

9

9

9

9

10

8

9

X 3

X 3

X 3

X 3

X 3

X 3



Assembly Instruction

7

 9Pcs

D

 3Pcs

J

M3.5x16mm Screw

Drawer Slide 350mm- R

 9Pcs

D

 3Pcs

J

M3.5x16mm Screw

Drawer Slide 350mm- L

Step 15

Step 17

Step 16

J

D

J

D

D

J

J

J

D

J

D

D

J

J

7
7

11

11

10

10

8

9

X 3
X 3

3

7

7

7

5

2

4

1


